mDAL

M2 4 AKRRE
=Ps Bl A LEE
A0 63,318 63,336 N\ 18
5 31,625 31,656 A 31
L8 31,693 31,680 13
LK 26,103 26,055 438




mDAL

255 AKRE
=Ps Bl A LEE
A0 63,256 63,318 A\ 62
5 31,586 31,625 A\ 39
L8 31,670 31,693 N\ 23
LK 26,103 26,103 0




mDAL

S 256 AKRRE
=Ps Bl A LEE
A0 63,203 63,256 A\ 53
5 31,558 31,586 N\ 28
L8 31,645 31,670 AN\ 25
LK 26,126 26,103 23




mDAL

SM2ET7 ARRE
=Ps Bl A LEE
A0 63,203 63,203 0
5 31,562 31,558 4
L8 31,641 31,645 N4
K2 26,172 26,126 46




mDAL

SM2EARRE
=Ps Bl A LEE
A0 63,217 63,203 14
5 31,571 31,562 9
L8 31,646 31,641 5
K2 26,194 26,172 22




mDAL

SM2FE I ARRE
=Ps Bl A LEE
A0 63,190 63,217 N\ 27
5 31,539 31,571 A\ 32
L8 31,651 31,646 5
K2 26,176 26,194 N\ 18




mDAL

M2 F10AKRKRE
=Ps Bl A LEE
A0 63,190 63,190 0
5 31,523 31,539 N\ 16
L8 31,667 31,651 16
K2 26,204 26,176 28




mDAL

SM2F11AKRRE
=Ps Bl A LEE
A0 63,195 63,190 5
5 31,525 31,523 2
L8 31,670 31,667 3
K2 26,225 26,204 21




mDAL

M2 F12AKRR%E
=Ps Bl A LEE
A0 63,162 63,195 A 33
5 31,513 31,525 AN\ 12
L8 31,649 31,670 N 21
K2 26,228 26,225 3




mDAL

SM3FE1ARRE
=Ps Bl A LEE
A0 63,117 63,162 A\ 45
5 31,492 31,513 N 21
L8 31,625 31,649 N\ 24
K2 26,222 26,228 /\ 6




mDAL

SM3FE2 ARRE
=Ps Bl A LEE
A0 63,071 63,117 N\ 46
5 31,477 31,492 A 15
L8 31,594 31,625 A 31
K2 26,228 26,222 6




mDAL

S 3FE 3 ARRE
=Ps Bl A LEE
A0 63,012 63,071 A\ 59
5 31,444 31,477 A 33
L8 31,568 31,594 /\ 26
K2 26,262 26,228 34




